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583275 Question @

> ?ﬂm-@osn ball collides with a woérbm ball. /ﬂzow of
experiences a greater force from the other one due to the
collision?

A) :6 ping-pong b rm:

B) The bowling ball | |

C) They experience the san m force

D) The force on each depends on its <®_oo5\
E) The force on each depends on its mass




HEQBQQ@ Qu wmﬁos

A book is resting on the msammom of a table. Consider the
following four forces that arise in this situation.

(1) the force of the earth pulling on the book
(2) the force of the table pushing on the book
(3) the force of the book p WW,_,_.,_,_Ebn on ﬂ € 8@5
(4) the force of the book pulling on t

1

Which two forces form an “action-reaction” pair
which obey Newton' s third law?




Interactive Qu @m:os

A ron@ HE:m a cart &osn a flat Kﬁ& road. Oosm_mﬂ, the
following four forces that arise in this situation.

(1) The force of ﬂ S rou.m@ pu :
(2) The force of the cart pullir
(3) The force of the horse pu

(4) The force of the road pushing on the horse.

g on ﬁ e roH.mo
Ew on the road.

11

Which two forces _on.B an “action-reaction” pair
which obey Newton' s third law.

A) (1) and (4) 9 (2) and 4) N E) (2) and (3)
" B) (1) and (3) D) (3) and (4)



Interactive Que

An astronaut who is walking in space
pushes on a m@moomw% with a force of
36 N. The astronaut has a mass om 92
kg and the spaeeship h
11000 kg. Which mﬁmﬂoﬁoi 1S ad%

"he acty ﬁ <§: maowwmﬂmﬂ

- B)No net force w
spaceship.

C) A force will be mxwima on z,_w astron:
spaceship.

D) The astronaut and the spa
magnitude of mooo_mamaos.

E) None of the above.

‘but not the m@mommr%

w11l have the same




Problem: An astronaut who is walking in space pushes on
a spaceship with a mﬂ.om om wm Z. The astronaut has a
mass of 92 kg and the spaceship has a mass of 11000 kg.
What happens?




Interactive Questior

A train is scceserating to the right. There is no friction
opposing the motion. How does the tension between the
engine and the 2 car compare with the tension between
the 224 car and the third car?

A) It is less.

B) It is the same.

C) It 1s greater. _
D) More information is needed.
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.waoE@B“ A 4kg block and a 2 Wm block can move on a
horizontal surface. The blocks are pushed by a 24 N force
in the positive x direction as shown. A frictional force of
8 N acts on the 4 kg block and a frictional mow.oo of 4 N
acts on the 2 kg block.

A) What is the net force acting on the two blocks?

B) Determine the acceleration of the blocks. |

C) What is the force of the 2 kg Eoow @%Eﬁm on Sw 4 kg
block?

24N T — 5 S
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